
Poll
T- cyclic means the T-cyclic subspace generated by a vector v .

PCE)=t4
= Spank ,Tv ,TI,Tsu , . . .g

F- (% go,) ⇒TEO
= Spank Tv , . . .

. Tmvq

Tf Tm'T is a linear combination of
then T- cyclic subsp paid by (F) =a

"

IV.Tv , - - - ,TMvf
.

Guess & Claim : The dimension is not enough . To be precise ,

TH! V is a linear combination of Htv ,TZVI .

proof . Let pet) be aota.tt atleast
'
with asto E. deg p =3) .

Then
,
asTK - ai

'
-ai -ao -Z and we can diode by as .

.

.

. TZ - Gast- IT -¥2
i.The = -¥ -Tt - at .tv -¥ - V

. ex



Poll

There are four eigenvalues counting the ( algebraic) multiplicities .

Case 1. One 2
,
three 3

.

Case2.Two 2 , two 3 .

Case3.Three 2 ,
one 3

.

① Only one 2 ,
no variations ! lbk it

,¥l→[ 33' ;)
Three 3 : o 3×3 Jordan block

° 2×2 and 1×1 Jordan blocks#

• 1×1 and IN and 1×1 Jordan blocks
→ (2333 )

Similarly for ② and ③
, Q (I ¥ E)Q'honey

fi.
the:*.



Definition
.
GRT) - TVE V : CT-XI)%⇒ for some kl = K,CT)

. . .

To prove
that W is S - invariant

,
we prove

that

for any WEW ,
Sw EW

.

Let's do the same game!

Let w be an arbitrary element of GKT) .
(This is to say (TdDkw=o

for some K . )
we need to prove that

S -w satisfies CT- Kdfw⇒ for some e .

However, from SFTS . we get (T- d2)S= TS- ds = ST- S-d

=SCT- KI)
.

Inductively , we get CT-DI)mS= S . G- DDM and so
,

(T- dzjgsw-S.CT-ddkw-S.ro .

THE k from above



F- QJTQ
"

for Afi
")

.

Any Jordan block J es dit N where N= i )
.

So
,
for any invertible Q , QJQ

-

I QCDITN) Q
- I

= AQLQ
- '
+ QNQ

- '
= DITQNQ

'

!

So
,
we need to find Q St QNQ

- '
= Nt

.

But
,
N behaves en→ en- i → - - - → e.→ o .

Nt : e.→ez→ - - - →en-so
.

like

so
,
Q = the change of coordinates matrix ten , - . .

. e.I→Ki .- - - seal will work .

=L!
"

)
. You can do sanity check !

Note that similarity is transitive & B=QAQ
- '
⇒ BE

' 'Ata
- that is

,
if A-B ,

then AtrBt
.

Let T be a Jordan canonical term of A .

Then
.

A -J -F- At
.



A
.
False b

.
True

(8 f) in Kael is (98) . This is the essence of LA !

C
.

False d. False

" " "2.) In!!.jo?a.;i:.TEl.fmeYEeIisehnIae,then it would be

true
.


